

The Australian Journal of Mathematical Analysis and Applications

AJMAA





SOME NEW MAPPINGS RELATED TO WEIGHTED MEAN INEQUALITIES

XIU-FEN MA

Received 31 January, 2019; accepted 16 June, 2019; published 18 September, 2019.

COLLEGE OF MATHEMATICAL AND COMPUTER, CHONGQING NORMAL UNIVERSITY FOREIGN TRADE AND BUSINESS COLLEGE, No.9 OF XUEFU ROAD, HECHUAN DISTRICT 401520, CHONGQING CITY, THE PEOPLE'S REPUBLIC OF CHINA.

maxiufen86@163.com

ABSTRACT. In this paper, we define four mappings related to weighted mean inequalities, investigate their properties, and obtain some new refinements of weighted mean inequalities.

Key words and phrases: Weighted mean inequalities; Mapping; Monotonicity; Refinement.

2000 Mathematics Subject Classification. 26D15.

ISSN (electronic): 1449-5910

^{© 2019} Austral Internet Publishing. All rights reserved.

1. Introduction

In this paper, let $x_i>0, t_i>0$ $(i=1,2,\cdots,n;n\geq 2,n\in\mathbb{N})$, $1\leq k\leq m\leq n, T_n=\sum_{i=1}^n t_i, T_0=0$. Then

(1.1)
$$\frac{n}{\frac{1}{x_1} + \frac{1}{x_2} + \dots + \frac{1}{x_n}} \le \sqrt[n]{x_1 x_2 \dots x_n} \le \frac{x_1 + x_2 + \dots + x_n}{n}.$$

(1.1) is the well-known classical harmonic-geometric-arithmetic mean inequalities with wide applications (see [1]).

For some recent results which generalize, improve and extend these classical inequalities, see [2]-[5]. In [2]-[3], the generalized form of inequalities (1.1) is further introduced: weighted harmonic-geometric-arithmetic mean inequalities

(1.2)
$$T_n \left(\sum_{i=1}^n t_i x_i^{-1} \right)^{-1} \le \prod_{i=1}^n x_i^{t_i/T_n} \le \sum_{i=1}^n \frac{t_i}{T_n} x_i.$$

To go further into (1.2), we define four mappings F, G, H and L by

$$F(k,m) = \sum_{i=k}^{m} t_i x_i - (T_m - T_{k-1}) \prod_{i=k}^{m} x_i^{t_i/(T_m - T_{k-1})},$$

$$G(k,m) = \sum_{i=k}^{m} \frac{t_i}{x_i} - \frac{T_m - T_{k-1}}{\prod_{i=k}^{m} x_i^{t_i/(T_m - T_{k-1})}},$$

$$H(n,k) = \sum_{1 \le i_1 < i_2 < \dots < i_k \le n} \frac{1}{C_n^k} \left(\sum_{j=1}^k t_{i_j} x_{i_j} - \left(\sum_{j=1}^k t_{i_j} \right) \prod_{j=1}^k x_{i_j}^{t_{i_j}/\sum_{j=1}^k t_{i_j}} \right),$$

$$L(n,k) = \sum_{1 \le i_1 < i_2 < \dots < i_k \le n} \frac{1}{C_n^k} \left(\sum_{j=1}^k \frac{t_{i_j}}{x_{i_j}} - \frac{\sum_{j=1}^k t_{i_j}}{\prod_{i=1}^k x_{i_j}/\sum_{j=1}^k t_{i_j}} \right).$$

The aim of this paper is to study monotonicity properties of F, G, H and L, and obtain some new refinements of (1.1) and (1.2).

2. MAIN RESULTS

Theorem 2.1. Let F be defined as in the first section. For $1 \le k \le m \le n$, we write

$$\bar{F}(k,m) = \frac{1}{T_n} F(k,m) + \prod_{i=1}^n x_i^{t_i/T_n}.$$

We have

- (1) F(1,k) is monotonically increasing with respect to k, and F(k,n) is monotonically decreasing with respect to k.
 - (2) For $\alpha \in [0,1]$ and $\beta = 1 \alpha$, we have

(2.1)
$$\prod_{i=1}^{n} x_{i}^{t_{i}/T_{n}} = \alpha \bar{F}(1,1) + \beta \bar{F}(n,n) \leq \alpha \bar{F}(1,2) + \beta \bar{F}(n-1,n)$$

$$\leq \dots \leq \alpha \bar{F}(1,n-1) + \beta \bar{F}(2,n) \leq \bar{F}(1,n) = \sum_{i=1}^{n} \frac{t_{i}}{T_{n}} x_{i},$$

(2.1) is the refinements of the right end of (1.2).

Remark 2.1. (1) When $t_i = 1$ $(i = 1, 2, \dots, n)$, (2.1) becomes refinements of the right end of (1.1).

(2) Replace x_i in (2.1) with x_i^{-1} ($i = 1, 2, \dots, n$), and then take the reciprocal, the refinements of the left end of (1.2) can be obtained.

Theorem 2.2. Let G be defined as in the first section. For $1 \le k \le m \le n$, we write

$$\bar{G}(k,m) = \frac{\prod_{i=1}^{n} x_{i}^{t_{i}/T_{n}}}{\sum_{i=1}^{n} t_{i} x_{i}^{-1}} \left(G(k,m) + \frac{T_{n}}{\prod_{i=1}^{n} x_{i}^{t_{i}/T_{n}}} \right).$$

We have

- (1) G(1,k) is monotonically increasing with respect to k, and G(k,n) is monotonically decreasing with respect to k.
 - (2) For $\alpha \in [0,1]$ and $\beta = 1 \alpha$, we have

(2.2)
$$T_{n} \left(\sum_{i=1}^{n} t_{i} x_{i}^{-1} \right)^{-1} = \alpha \bar{G}(1,1) + \beta \bar{G}(n,n) \leq \alpha \bar{G}(1,2) + \beta \bar{G}(n-1,n)$$
$$\leq \dots \leq \alpha \bar{G}(1,n-1) + \beta \bar{G}(2,n) \leq \bar{G}(1,n) = \prod_{i=1}^{n} x_{i}^{t_{i}/T_{n}},$$

(2.2) is the refinements of the left end of (1.2).

Remark 2.2. When $t_i = 1$ $(i = 1, 2, \dots, n)$, (2.2) becomes refinements of the left end of (1.1).

Theorem 2.3. Let H be defined as in the first section. For $1 \le k \le n$, we write

$$\bar{H}(n,k) = \frac{1}{T_n} H(n,k) + \prod_{i=1}^n x_i^{t_i/T_n}.$$

We have

- (1) H(n,k) is monotonically increasing with respect to k.
- (2)

(2.3)
$$\prod_{i=1}^{n} x_i^{t_i/T_n} = \bar{H}(n,1) \le \bar{H}(n,2) \le \dots \le \bar{H}(n,n) = \sum_{i=1}^{n} \frac{t_i}{T_n} x_i,$$

(2.3) is the refinements of the right end of (1.2) with non-repetitive sample.

Remark 2.3. (1) When $t_i = 1$ $(i = 1, 2, \dots, n)$, (2.3) becomes refinements of the right end of (1.1).

(2) Replace x_i and x_{i_j} in (2.3) with x_i^{-1} ($i = 1, 2, \dots, n$) and $x_{i_j}^{-1}$ ($i_j = i_1, i_2, \dots, i_n$) respectively, then take the reciprocal, the refinements of the left end of (1.2) can be obtained.

Theorem 2.4. Let L be defined as in the first section. For $1 \le k \le n$, we write

$$\bar{L}(n,k) = \frac{\prod_{i=1}^{n} x_i^{t_i/T_n}}{\sum_{i=1}^{n} t_i x_i^{-1}} \left(L(n,k) + \frac{T_n}{\prod_{i=1}^{n} x_i^{t_i/T_n}} \right).$$

We have

(1) L(n,k) is monotonically increasing with respect to k.

(2.4)
$$T_n \left(\sum_{i=1}^n t_i x_i^{-1} \right)^{-1} = \bar{L}(n,1) \le \bar{L}(n,2) \le \dots \le \bar{L}(n,n) = \prod_{i=1}^n x_i^{t_i/T_n},$$

(2.4) is the refinements of the left end of (1.2) with non-repetitive sample.

Remark 2.4. When $t_i = 1$ $(i = 1, 2, \dots, n)$, (2.4) becomes refinements of the left end of (1.1).

3. PROOF OF THEOREMS

Proof. Theorem 2.1. (1) For $k=1,2,\cdots,n-1$, from the right end of (1.2), the inequality signs in the following two formulas can be obtained

$$F(1,k+1) = \sum_{i=1}^{k+1} t_i x_i - T_{k+1} \prod_{i=1}^{k+1} x_i^{t_i/T_{k+1}}$$

$$= \sum_{i=1}^{k+1} t_i x_i - T_{k+1} \left(\left(\prod_{i=1}^k x_i^{t_i/T_k} \right)^{T_k/T_{k+1}} \cdot x_{k+1}^{t_{k+1}/T_{k+1}} \right)$$

$$\geq \sum_{i=1}^{k+1} t_i x_i - T_{k+1} \left(\frac{T_k}{T_{k+1}} \prod_{i=1}^k x_i^{t_i/T_k} + \frac{t_{k+1}}{T_{k+1}} x_{k+1} \right)$$

$$= \sum_{i=1}^k t_i x_i - T_k \prod_{i=1}^k x_i^{t_i/T_k} = F(1,k),$$

$$F(k,n) = \sum_{i=k}^n t_i x_i - (T_n - T_{k-1}) \prod_{i=k}^n x_i^{t_i/(T_n - T_{k-1})}$$

$$= \sum_{i=k}^n t_i x_i - (T_n - T_{k-1}) \left(\left(\prod_{i=k+1}^n x_i^{t_i/(T_n - T_k)} \right)^{(T_n - T_k)/(T_n - T_{k-1})} \cdot x_k^{t_k/(T_n - T_{k-1})} \right)$$

$$\geq \sum_{i=k}^n t_i x_i - (T_n - T_{k-1}) \left(\frac{T_n - T_k}{T_n - T_{k-1}} \prod_{i=k+1}^n x_i^{t_i/(T_n - T_k)} + \frac{t_k}{T_n - T_{k-1}} x_k \right)$$

$$= \sum_{i=k}^n t_i x_i - (T_n - T_k) \prod_{i=k+1}^n x_i^{t_i/(T_n - T_k)} = F(k+1, n).$$

(3.1) and (3.2) imply that F(1, k) is monotonically increasing with respect to k and F(k, n) is monotonically decreasing with respect to k, respectively.

(2) From the definition of F, we can get F(1,1)=F(n,n)=0 and $F(1,n)=\sum_{i=1}^n t_i x_i-T_n\prod_{i=1}^n x_i^{t_i/T_n}$, from the construction of \bar{F} , we can get $\bar{F}(1,1)=\bar{F}(n,n)=\prod_{i=1}^n x_i^{t_i/T_n}$ and $\bar{F}(1,n)=\sum_{i=1}^n \frac{t_i}{T_n}x_i$. Then from the structure of \bar{F} and (3.1), (3.2), it is obvious that $\bar{F}(1,k)$ is monotonically increasing with respect to k and $\bar{F}(k,n)$ is monotonically decreasing with respect to k. Thus the following two formulas hold

(3.3)
$$\prod_{i=1}^{n} x_i^{t_i/T_n} = \bar{F}(1,1) \le \bar{F}(1,2) \le \dots \le \bar{F}(1,n) = \sum_{i=1}^{n} \frac{t_i}{T_n} x_i,$$

(3.4)
$$\prod_{i=1}^{n} x_i^{t_i/T_n} = \bar{F}(n,n) \le \bar{F}(n-1,n) \le \dots \le \bar{F}(1,n) = \sum_{i=1}^{n} \frac{t_i}{T_n} x_i.$$

For $\alpha \in [0,1]$ and $\beta = 1 - \alpha$, formula (3.3) multiplied by α plus formula (3.4) multiplied by β yield (2.1).

This completes the proof of Theorem 2.1. ■

Proof. Theorem 2.2. (1) The left end of formula (1.2) can be rewritten as the following inequality

$$\frac{T_n}{\prod\limits_{i=1}^n x_i^{t_i/T_n}} \le \sum_{i=1}^n \frac{t_i}{x_i}.$$

For $k=1,2,\cdots,n-1$, from (3.5), the inequality signs in the following two formulas can be obtained

$$(3.6) G(1, k+1) = \sum_{i=1}^{k+1} \frac{t_i}{x_i} - \frac{T_{k+1}}{\prod_{i=1}^{k+1} x_i^{t_i/T_{k+1}}}$$

$$= \sum_{i=1}^{k+1} \frac{t_i}{x_i} - \left(\frac{T_k + t_{k+1}}{\left(\prod_{i=1}^k x_i^{t_i/T_k}\right)^{T_k/T_{k+1}}} \cdot x_{k+1}^{t_{k+1}/T_{k+1}}\right)$$

$$\geq \sum_{i=1}^{k+1} \frac{t_i}{x_i} - \left(\frac{T_k}{\prod_{i=1}^k x_i^{t_i/T_k}} + \frac{t_{k+1}}{x_{k+1}}\right)$$

$$= \sum_{i=1}^k \frac{t_i}{x_i} - \frac{T_k}{\prod_{i=1}^k x_i^{t_i/T_k}} = G(1, k),$$

$$(3.7) G(k,n) = \sum_{i=k}^{n} \frac{t_i}{x_i} - \frac{T_n - T_{k-1}}{\prod_{i=k}^{n} x_i t_i / (T_n - T_{k-1})}$$

$$= \sum_{i=k}^{n} \frac{t_i}{x_i} - \left(\frac{(T_n - T_k) + t_k}{\left(\prod_{i=k+1}^{n} x_i t_i / (T_n - T_k)\right)^{(T_n - T_k) / (T_n - T_{k-1})}} \cdot x_k t_k / (T_n - T_{k-1}) \right)$$

$$\geq \sum_{i=k}^{n} \frac{t_i}{x_i} - \left(\frac{T_n - T_k}{\prod_{i=k+1}^{n} x_i t_i / (T_n - T_k)} + \frac{t_k}{x_k} \right)$$

$$= \sum_{i=k+1}^{n} \frac{t_i}{x_i} - \frac{T_n - T_k}{\prod_{i=k+1}^{n} x_i t_i / (T_n - T_k)} = G(k+1, n).$$

(3.6) and (3.7) imply that G(1, k) is monotonically increasing with respect to k and G(k, n) is monotonically decreasing with respect to k, respectively.

(2) From the definition of
$$G$$
, we can get $G(1,1)=G(n,n)=0$ and $G(1,n)=\sum\limits_{i=1}^{n}\frac{t_{i}}{x_{i}}-\frac{T_{n}}{\prod\limits_{i=1}^{n}x_{i}^{t_{i}/T_{n}}}$, from the construction of \bar{G} , we can get $\bar{G}(1,1)=\bar{G}(n,n)=T_{n}\left(\sum\limits_{i=1}^{n}t_{i}x_{i}^{-1}\right)^{-1}$ and $\bar{G}(1,n)=\prod\limits_{i=1}^{n}x_{i}^{t_{i}/T_{n}}$. Then from the structure of \bar{G} and (3.6), (3.7), it is obvious that $\bar{G}(1,k)$ is monotonically increasing with respect to k and $\bar{G}(k,n)$ is monotonically decreasing with respect to k . Thus the following two formulas hold

(3.8)
$$T_n \left(\sum_{i=1}^n t_i x_i^{-1} \right)^{-1} = \bar{G}(1,1) \le \bar{G}(1,2) \le \dots \le \bar{G}(1,n) = \prod_{i=1}^n x_i^{t_i/T_n},$$

$$(3.9) T_n \left(\sum_{i=1}^n t_i x_i^{-1} \right)^{-1} = \bar{G}(n,n) \le \bar{G}(n-1,n) \le \dots \le \bar{G}(1,n) = \prod_{i=1}^n x_i^{t_i/T_n}.$$

For $\alpha \in [0,1]$ and $\beta = 1-\alpha$, formula (3.8) multiplied by α plus formula (3.9) multiplied by β yield (2.2).

This completes the proof of Theorem 2.2. ■

Proof. Theorem 2.3. (1) Let $1 \le i_1 < i_2 < \cdots < i_k \le n \ (k \ge 2)$, arbitrarily take k-1 elements from i_1, i_2, \cdots, i_k and mark them as $r_1, r_2, \cdots, r_{k-1}$, respectively. Then mark the remaining one as r_k . From the right end of (1.2), the inequality sign in the following formula can be obtained

$$\sum_{j=1}^{k} t_{i_{j}} x_{i_{j}} - \left(\sum_{j=1}^{k} t_{i_{j}}\right) \prod_{j=1}^{k} x_{i}^{t_{i_{j}} / \sum_{j=1}^{k} t_{i_{j}}}$$

$$= \sum_{j=1}^{k} t_{i_{j}} x_{i_{j}} - \left(\sum_{j=1}^{k} t_{i_{j}}\right) \left(\left(\prod_{l=1}^{k-1} x_{r_{l}}^{t_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}}\right)^{\sum_{l=1}^{k-1} t_{r_{l}} / \sum_{j=1}^{k} t_{i_{j}}} \cdot x_{r_{k}}^{t_{r_{k}} / \sum_{j=1}^{k} t_{i_{j}}}\right)$$

$$\geq \sum_{j=1}^{k} t_{i_{j}} x_{i_{j}} - \left(\sum_{j=1}^{k} t_{i_{j}}\right) \left(\sum_{j=1}^{k-1} t_{r_{l}} \prod_{l=1}^{k-1} x_{r_{l}}^{t_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}} + \frac{t_{r_{k}}}{\sum_{j=1}^{k} t_{i_{j}}} x_{r_{k}}\right)$$

$$= \sum_{l=1}^{k-1} t_{r_{l}} x_{r_{l}} - \left(\sum_{l=1}^{k-1} t_{r_{l}}\right) \prod_{l=1}^{k-1} x_{r_{l}}^{t_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}}.$$

From the definition of H, (3.10) and combinatorial knowledge, we can get

$$(3.11) H(n,k)$$

$$= \sum_{1 \leq i_{1} < i_{2} < \dots < i_{k} \leq n} \frac{1}{C_{n}^{k}} \left(\sum_{j=1}^{k} t_{i_{j}} x_{i_{j}} - \left(\sum_{j=1}^{k} t_{i_{j}} \right) \prod_{j=1}^{k} x_{i_{j}}^{t_{i_{j}}} \sum_{j=1}^{k} t_{i_{j}} \right)$$

$$\geq \sum_{1 \leq i_{1} < i_{2} < \dots < i_{k} \leq n} \sum_{\{r_{1}, r_{2}, \dots, r_{k-1}\} \subset \{i_{1}, i_{2}, \dots, i_{k}\}} \frac{1}{k}$$

$$\cdot \frac{1}{C_{n}^{k}} \left(\sum_{l=1}^{k-1} t_{r_{l}} x_{r_{l}} - \left(\sum_{l=1}^{k-1} t_{r_{l}} \right) \prod_{l=1}^{k-1} x_{r_{l}}^{t_{r_{l}}} \left(\sum_{l=1}^{k-1} t_{r_{l}} \right) \right)$$

$$= \sum_{1 \leq j_{1} < j_{2} < \dots < j_{k-1} \leq n} \frac{1}{C_{n}^{k-1}} \left(\sum_{m=1}^{k-1} t_{j_{m}} x_{j_{m}} - \left(\sum_{m=1}^{k-1} t_{j_{m}} \right) \prod_{m=1}^{k-1} x_{j_{m}}^{t_{j_{m}}} \left(\sum_{m=1}^{k-1} t_{j_{m}} \right) \right)$$

$$= H(n, k-1).$$

(3.11) implies that H(n, k) is monotonically increasing with respect to k.

(2) From H(n, 1) = 0 and the structure of \bar{H} , we have

(3.12)
$$\bar{H}(n,1) = \frac{1}{T_n} H(n,1) + \prod_{i=1}^n x_i^{t_i/T_n} = \prod_{i=1}^n x_i^{t_i/T_n}.$$

From $H(n,n) = \sum_{i=1}^{n} t_i x_i - T_n \prod_{i=1}^{n} x_i^{t_i/T_n}$ and the structure of \bar{H} , we have

(3.13)
$$\bar{H}(n,n) = \frac{1}{T_n} H(n,n) + \prod_{i=1}^n x_i^{t_i/T_n} = \sum_{i=1}^n \frac{t_i}{T_n} x_i.$$

From (3.11) and the structure of \bar{H} , it is obvious that $\bar{H}(n,k)$ is monotonically increasing with respect to k. Therefore, the following formula holds

(3.14)
$$\bar{H}(n,1) \le \bar{H}(n,2) \le \dots \le \bar{H}(n,n)$$
.

Combination of (3.12), (3.13) and (3.14) yields (2.3).

The proof of Theorem 2.3 is completed. ■

Proof. Theorem 2.4. (1) Similar to the proof of (1) in Theorem 2.3, from (3.5), the inequality sign in the following formula can be obtained

$$(3.15) \sum_{j=1}^{k} \frac{t_{i_{j}}}{x_{i_{j}}} - \frac{\sum_{j=1}^{k} t_{i_{j}}}{\prod_{j=1}^{k} x_{i_{j}} / \sum_{j=1}^{k} t_{i_{j}}}}{\prod_{j=1}^{k} x_{i_{j}} / \sum_{j=1}^{k} t_{i_{j}}} - \frac{\sum_{l=1}^{k-1} t_{r_{l}} + t_{r_{k}}}{\left(\prod_{l=1}^{k-1} x_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}\right)^{\sum_{l=1}^{k-1} t_{r_{l}} / \sum_{j=1}^{k} t_{i_{j}}}} \cdot x_{r_{k}} / \sum_{j=1}^{k} t_{i_{j}}}$$

$$\geq \sum_{j=1}^{k} \frac{t_{i_{j}}}{x_{i_{j}}} - \left(\frac{\sum_{l=1}^{k-1} t_{r_{l}}}{\prod_{l=1}^{k-1} x_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}} + \frac{t_{r_{k}}}{x_{r_{k}}}\right) = \sum_{l=1}^{k-1} \frac{t_{r_{l}}}{x_{r_{l}}} - \frac{\sum_{l=1}^{k-1} t_{r_{l}}}{\prod_{l=1}^{k-1} x_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}}.$$

From the definition of L, (3.15) and combinatorial knowledge, we can get

$$(3.16) \quad E\left(x,k\right) = \sum_{1 \le i_{1} < i_{2} < \dots < i_{k} \le n} \frac{1}{C_{n}^{k}} \left(\sum_{j=1}^{k} \frac{t_{i_{j}}}{x_{i_{j}}} - \frac{\sum_{j=1}^{k} t_{i_{j}}}{\prod_{j=1}^{k} x_{i_{j}} / \sum_{j=1}^{k} t_{i_{j}}}\right)$$

$$= \sum_{1 \le i_{1} < i_{2} < \dots < i_{k} \le n} \sum_{\{r_{1}, r_{2}, \dots, r_{k-1}\} \subset \{i_{1}, i_{2}, \dots, i_{k}\}} \frac{1}{k} \cdot \frac{1}{C_{n}^{k}} \left(\sum_{l=1}^{k-1} \frac{t_{r_{l}}}{x_{r_{l}}} - \frac{\sum_{l=1}^{k-1} t_{r_{l}}}{\prod_{l=1}^{k-1} x_{r_{l}} / \sum_{l=1}^{k-1} t_{r_{l}}}\right)$$

$$= \sum_{1 \le j_{1} < j_{2} < \dots < j_{k-1} \le n} \frac{1}{C_{n}^{k-1}} \left(\sum_{m=1}^{k-1} \frac{t_{j_{m}}}{x_{j_{m}}} - \frac{\sum_{m=1}^{k-1} t_{j_{m}}}{\prod_{m=1}^{k-1} x_{j_{m}} / \sum_{m=1}^{k-1} t_{j_{m}}}\right)$$

$$= L\left(n, k-1\right).$$

- (3.16) implies that L(n, k) is monotonically increases with respect to k.
 - (2) From L(n, 1) = 0 and the structure of \bar{L} , we have

(3.17)
$$\bar{L}(n,1) = \frac{\prod_{i=1}^{n} x_i^{t_i/T_n}}{\sum_{i=1}^{n} t_i x_i^{-1}} \left(L(n,1) + \frac{T_n}{\prod_{i=1}^{n} x_i^{t_i/T_n}} \right) = T_n \left(\sum_{i=1}^{n} t_i x_i^{-1} \right)^{-1},$$

From $L(n,n) = \sum_{i=1}^{n} \frac{t_i}{x_i} - \frac{T_n}{\prod\limits_{i=1}^{n} x_i t_i / T_n}$ and the structure of \bar{L} , we have

(3.18)
$$\bar{L}(n,n) = \frac{\prod_{i=1}^{n} x_i^{t_i/T_n}}{\sum_{i=1}^{n} t_i x_i^{-1}} \left(L(n,n) + \frac{T_n}{\prod_{i=1}^{n} x_i^{t_i/T_n}} \right) = \prod_{i=1}^{n} x_i^{t_i/T_n},$$

From (3.16) and the structure of \bar{L} , it is obvious that $\bar{L}(n,k)$ is monotonically increasing with respect to k. Therefore, the following formula holds

$$\bar{L}(n,1) \le \bar{L}(n,2) \le \dots \le \bar{L}(n,n).$$

Combination of (3.17), (3.18) and (3.19) yields (2.4).

The proof of Theorem 2.4 is completed. ■

REFERENCES

- [1] D. S. MITRINOVIĆ and P. M. VASIĆ, Sredine, Matematička Biblioteka, 1969, 40:124 (Beograd).
- [2] J. C. KUANG, Applied Inequalities, Shandong Science and Technology Press, 2004 (in Chinese).
- [3] L. C. WANG, CONVEX FUNCTIONS AND THEIR INEQUALITIES, Sichuan University Press, Chengdu, China, 2001 (in Chinese).
- [4] Y. H. XU, Two Refinements and Applications of Mean Inequality, *Journal of Wenzhou University* (*Natural Science Edition*), **37** (3) 2016, pp. 1-5 (In Chinese).
- [5] Z. LIU, Notes on Arithmetic Geometric Mean and Geometry Harmonic Mean, *Journal of Anshan University of Science and Technology*, **30** (3) 2007, pp. 230-235 (In Chinese).